H & 0l & AHS B Ml A

FA 202t
Ha: HAS 2
el JhRe EAEE 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SZ0Ist 18,486,326 16,846,932 2,639,394
= 30,800
Al 447,800
- 18,007,726
FAagd 2el 7,292,393 5,99%,201 1,296,192
Al 340,000
- 6,952,393
IRE SAIEE 4 6,751,135 5,495,742 1,255,393
Al 340,000
- 6,411,135
HEES =HSE 47,940 26,140 21,800
201 et 3| 23,400 23,500 A100
01 AtR2tc|bI 15,640 15,660 A0
Oget=ZH] 15,640
oggdHH 24
500,000 1200 & 6,000
OESsFH 4k 7Y 5,450
Uil t= 9,0003x33H *1I= 122 3,564
o= t= 3,500 %338+ 1~ 123 1,386
@7 40,0002 * 10CH 400
@==dl ORZEXIH 10,0002 = 10CH 100
OESFH (EE FUES 4= 78 2,970
@500m| 4 == 5003 %33+ 0 2,970
OHIFH HE 237
500,000 500
OFAA Hidl 2el
20,0003 «3CH* 122 720
02 S3=gHl 7,760 7,840 N80
OsE2= & HA 4,120
OgSHE HY L TV IHE
40,0002« 122 480
O EFHH AL Q=
200,000 x 122 2,400
OLHASEHAI| 22 HIIRsS
20,000 * 1 A+ 128 240
OZXAE HiY SHEHI(MKeIISEotH4!)
1,000,000 1,000
OAlE &I Xl 3,640
OstZEE2A sZz 08 22l
100,000 * 12 1,200
O SR RABHIAIAE AIER
120,000« 12& 1,440
O AIEHHIS Al
1,000,000 1,000
202 04dl 1,210 1,210 0




FA 202t
Ha: HAS 2
el JhRe EAEE 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 1,210 1,210 0
o220l 1,210,000 1,210
203 gR=| 1,330 1,430 A100
03 A= PR F&IH| 1,330 1,430 A100
OFQ AR 1,330,000& 1,330
307 @I2to| & 22,000 0 22,000
05 git?(& =S 22,000 0 22,000
OS2 HLAND U +48
22,000,000 22,000
MEHIIZS =H2E2 AEE A = 5,827,321 5,287,729 539,592
201 er23 | 19,810 14,550 5,260
01 At2teltl 16,450 14,550 1,900
ons=stl(28d) 1,350
oxgs 60,0002 x0 & =22 1,080
(GRS 30,0003 +9& 270
OZ222H =2A X2 2,200,000 2,200
OdEHIIZ =HMA HE 222 M
4,300,000& 4,300
Os=& 0 M 4303 *20,000& 8,600
02 S3=gHl 3,360 0 3,360
OUEHDIZ 2HEHHIESAAE AMES
280,000 * 122 3,360
207 ARl 52,000 32,000 20,000
01 H1E4H] 52,000 32,000 20,000
OQUEHIIZ +8 - 28 WU HIISS
af 12,000,000 12,000
OdgHII= +=& - 2 U Dt &
g E9| 20,000,000 20,000
OXt2=stddne =8 84
20,000,000 20,000
307 lztol & 5,008,231 4,444,659 563,572
05 2IMRIE =3 5,008,231 4,444,659 563,572
odgHllZ =8 - 2t Y=
3,612,515,000& 3,612,515
O3=d 23 a Heir=
547,705,000 547,705
Oougmllz =& - 2t ===
309,018,000 309,018
OSAEdEHD 2 =8 - 28 s
538,993,000& 538,993
308 AtAIEHMSOIE 747,280 796,520 AN49,240
07 HXHH RS 497,280 506,520 N9,240
OHMEHIIS MY - AT B8 497,280
OSENSEF g+
16,8002 *1,950&+12& 393,120
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2A:
X XH -
o e

=aak

CHE - BB - NIRA - BAS of e A
115,000
115,000
g F=xE 2l 6.640
1 &E=gH| 6,640
1 AlR2tel] 2,640
Odgt==H| 2,640
Ot R H| 3 2=, 28 )
150,000& »12& 1,800
Ost&a 4 E9H 70,0003 * 122 840
02 S22l 4,000
Os&82= € MA 4,000
oMIIR3 100,000 «12& 1,200
OCCTV 2IE sl 3lH 75,0003 * 122 900
O3 & B+ 200,000& *42] 800
on2sg =t SHl=It|
1,100,000 1,100
SAZRH e 61,866
201 Zet=3hl 35,046
01 AtR2t2|HI 35,046
OLlI=HI(SZ32A) 31,416
oY= 150,000 x33E #2323 9,900
Oetd gt 50,0002 *33E *22] 3,300
ogst=s 100,000 *33& 3,300
O0rZ I 20,0002 x33 *23] 1,320
(GRS 50,0003 *33H 1,650
(©Fger; 18,0002 +33& 5%4
(OF=1= g NES =)
6,0002 x332*20H* 12 4,752
oxg= 20,0002 %33 660
ogd= 20,0002 %33 660
oYstotA3 2,500 *33& *2H 165
(OFRel 15,0002 +33& 495
ogaita3 2,0003 33 *10&+62 3,960
ogstdz 20,0002 +33& 660
OZ2=ZAZ& HgEs 7Y 3,630
og=s=2sl 15,0002 +33& 495
o&==2sl 15,0003 %33 495
OREE=M 20,0002 %33 660
osicl2= 40,0003 »33H 1,320
OZEXESH 20,0002 »33& 660
301 EtE NS 24,820
11 dAMEEIXIZE S 16,300




FA 202t
Ha: HAS 2
el JhRe EAEE 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEEETENESEETT
50,0003 +332 +23] 3,300
OBAD2A MAK A8t
13,000,000 13,000
14 J|Et2a s 8,520 7,660 860
OIS S (&B32A) 4,620
Oy, =4 JIE3
50,0003 332 +23] 3,300
odg J1g3 40,0002 33 1,320
Ogoul(ZE) &= 2,900
OZU(HH)EAX JIES(3 &)
2,500, 0002 +1% 2,500
OBU(ZEEIRT B22O0|, Bag
200,000& %1 200
OYu(FE)EILBA 25 7Y
200,000& %12 200
Olloi24 S 1,000,000 1,000
405 AHaHE = 2,000 2,000
01 AL =S F=HI 2,000 2,000
Oggatddy €258 2
2,000,000 *1CH 2,000
daM)] SEM 3F 541,258 500,459 40,799
SEHNSE =32 2l 541,258 500,459 40,799
201 fet= 3| 710 710 0
02 S3=gHl 710 710 0
OGB HIZE AMOIE | E==H|
710,000& 710
206 M=Hl 374,526 381,633 AT,107
01 MHZHI 374,526 381,633 AT,107
OSEN=SE MH 306,838
©514 33& 200, 0000H 6,600
©10¢ 413 1,420,0000H 58,220
©20 ¢ 582 *2,523,0000H 146,334
©50¢ 1243 %450,0000HK 55,800
o75¢ 169& 236, 0000H 30,884
OSENSTE =7 Ata BIZE Qi
82 +4,861,0000K 38,888
OsgNsSE SENH S 3,000,000 3,000
OS=+n2a SN S5 MA 25,800
©30¢ 4802 *20,0000K 9,600
©50 4 5402 +30,0000H 16,200
309 HES 166,022 118,116 47,906
01 SAL- SHIYHES 166,022 118,116 47,906
OZAZABHEZES(SHEMSES=UE) 166,022




2A:

Hu: yAsd B
Rl dEMY D] SEH EF EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CERER 141,402,000 141,402
oz 24,620,000 24,620
EDIZ e st 8,035,937 6.69.705 1,339,
2 30,800
A 107,800
2 7,897,337
WEE =2+ 2 NeEnEs 3,507,865 2,980,430 617,435
= 30,800
A 72,800
2 3,494,265
EEEICTIPSTEE] 3,430,006 2,888 663 541,343
A 20,000
2 3,410,006
101 124 50,374 51,623 A1,449
VBIES EET =R 50,374 51,623 A1,449
ongE 28 =20 50,374
SIS 79,6702 22 x1672 26,610
CEEEHIFSS 79,6702 42284782 12,429
ORUBI(1SHl, S4HI)
10, 0002224 +1672! 3,340
oo xag 79,6702 %221 +62! 1,275
CRIERe 120,000 22462 1,920
o4k 300,000215224 48 4,800
201 er2 e 9,160 8.260 900
EEEI 4,360 3.460 900
Asra g 3,360
oNEEsE sRE M= 3,000
Y EEERTE 1002:+10,00004 1,000
®-:771% AEIF 100%4%20,00004 2,000
OMEBE 22l47iE SOy 1Y 360
®100+140 18,000 <200} 360
OMESHME 2| 1,000, 0002! 1,000
2 2ze| 4,800 4,800 0
o=z22 ¥ MM 4,800
OMEBTHME BBR2 4,800
PSSBIl=E 30,0008 122 3,600
o454+ E 22 100,000+ 122 1,200
202 Oit] 810 810
NENCE 810 810
ozel0fH| 810,0002! 810
208 G2 E A 810 810
e SEEES 810 810




SN &20/3H0
33 ol Ardet
el W8 2cl=H & HMHES (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OFQAIHFZ 810,000 810
206 M=l 40,000 40,000 0
Al 20,000
= 20,000
01 b 40,000 40,000 0
OttsZe HERE 42 12Y 7Y
4,000&%10,000H 40,000
Al 20,000
- 20,000
307 elztol & 3,306,852 2,786,960 519,892
05 2ItRIE = 3,306,852 2,786,960 519,892
OoNgEss dE ASX2YI
350,921,000& 350,921
OMEBE 7 - 28 Hg++7
2,955,931,000& 2,955,931
401 AIEHIZ SR 0HYI 22,000 22,000
01 Al&HI 22,000 22,000
ONMESEEHE &1 Y3 A
22,000,000 22,000
AN S 167,859 87,767 80,092
= 30,800
Al 52,800
- 84,259
101 @124H| 12,679 11,887 792
M ORIMZZ2NSE S 12,679 11,887 792
OHAEIIN - HEZS +125 2l21y| 12,679
oJlz=s 79,6703 x2& 40 6,374
ON=g(F374)
79,6703 x2g »22 3,506
O=RUHI(nSHl, S4Hl)
10,0003 »2& ~40& 800
OHEg 120,000& 2 »23 480
Ouxt=& 79,6703 x2F*2& 319
O4EE J|2F5=2 S
300,000 x2H 2 1,200
201 er23 | 104,480 29,180 75,300
= 30,000
Al 28,000
- 46,480
01 At22t2l] 104,000 28,700 75,300
oNegsg zels=Hg M 26,000
OHEZS, HEX, HOE =1 M
26,000,000& 26,000
Al 13,000
- 13,000




FA: 230(=2t
3 HDI2 Nes
chel: THER 2el4)l U NANES (cre:xigl)
RA - BB - (S - MSAES ofl &t e DS
OQEXIs MEES +=HIN(UEE)ER
75,300,000& 75,300
= 30,000
Al 15,000
- 30,300
OHEZS, HEX & &t NAX Xt 1,980
oHgZs 110,000& * 122 1,320
(©: FSPN 110,000& +6E 660
OHgZs 25 2L HI8
60,000& « 122 720
° BZ2ZH| 480 480 0
OHIIEAE 43 0155423
40,0002 x1CH* 12 480
301 2N = 50,700 46,700 4,000
= 800
Al 24,800
- 25,100
14 JIEt 2 a3 50,700 46,700 4,000
OHHEX =1 Hdd= 5002 32,000 16,000
Al 8,000
- 8,000
O&0IH =) Hel=2 500& %60, 000K 30,000
Al 15,000
- 15,000
OBIEJ| MNEa= 300,000 300
Oselg =X dd= 502 +8,000H 400
Al 200
- 200
OdsHHE =& &ai= 4,000
OHHIE = 1002 %40,000kg 4,000
= 800
Al 1,600
- 1,600
SAEF HII2 NH2& 4,438,072 3,707,275 730,797
Al 35,000
T 4,403,072
SHEFHIIZS 2cliiE & = 4,438,072 3,707,275 730,797
Al 35,000
- 4,403,072
201 er23| 82,152 74,615 7,537
01 AtR2t2|HI 3,050 3,050 0
OSAER HIIE N 82= &
1002 +5,0000H 500




SN SR0I3D
M HolE st
el SMEF DI NS (SH &)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
OSA=EF HJI= tHERE 2tUE M
100& #5,0000H 500
OSASR HIIZ 22T AEH M
1002 *5,0000H 500
OAMI2l==2 0R DXIAM 7Y
60,0002 #42 A 240
OLUANN 2EE FSF 2L
250, 0002 <384 A 750
OSAER HIIE LN} e
2 =4 70,0003 x8H *13] 560
® 2Z2YY| 79,102 71,565 7,537
OBEFY 42 2UINN 2B
4303 *65001 A+ 12 3,3%4
OZsF A8 SAHARANLY FXES
u 170,000& * 12 2,040
OsalSXed| S2II(RFID) Sl
3,300 *2582| &+ 123 10,217
OSalEMeD| SEIIRFID) FAIE==tI
15,7002 %3370« 12& 63,491
206 M=l 35,100 35,100
01 MZH| 35,100 35,100
OS4SR HIIE UREE M
302 1,170,0000K 35,100
301 EetE NS 6,300 6,300
4IE2d=S 6,300 6,300
OSA=F HJl= M 20tLE Al
o4 6,300,000& 12 6,300
307 lztol & 4,214,520 3,525,260 689,260
05 2I2tRAE = 4,214,520 3,525,260 689,260
OSAZE HDIZ 7 - 2 (@442
2,780,192,000& 2,780,192
OSAIER HII2 HMeldl(SK, 240120t
A, A2 B
82,1938 %1,423E+ 122 1,403,528
OSAER HOI2 XMelHI(RIZAIE BHY)
220,000 ~20E+7L 30,800
401 AIEHIZL S0 70,000 66,000 4,000
Al 35,000
- 35,000
01 Al&H| 70,000 66,000 4,000
O==+% S&= SN RFID 2 £X
2,000,000 *35CH 70,000
Al 35,000
- 35,000
405 KHaHE SH 30,000 30,000
01 Tt ESF=HI 30,000 30,000




FA 202t
M HolE st
oelr SASEF HoIE et (SH9 H2)
~ _ q 4
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
OZSSFH SAIS =HBCIAAE A LT
30,000,000 1CH 30,000
HolE RHSI 2 120,785 114,298 6,487
s=H0 HolE2al 120,785 114,298 6,487
Ml S0 22 120,785 114,298 6,487
101 e124d| 12,679 11,887 792
M IItHMZZ2 NS 12,679 11,887 792
O="YSI| Xg0] 2&xel X3 12,679
oJlZ= 79,6702 x2& »40 6,374
ON=g(Ra5d)
79,6708 x2E »22 3,506
O=UHI(nSHl, s48])
10,0003 »2& ~40& 800
OF) == 120,000& 2 +23 480
Ouxt=g 79,6703 x2F 2 319
C4l=d J|A=FE= S
300,000 x2H 2 1,200
201 er=3| 102,486 96,791 5,695
01 At2t2lt] 56,360 43,360 13,000
Ooget+~=t| 24,560
OxeE SHHRLEE SESI| AUEM
= 3,000,000& 3,000
OttEtZE 82= NH 2,000,000& 2,000
OUtEHE & REHSFI| =X S+ &
60,0003 *2IH*137H 2 1,560
O="¥SJ| WEHJI= XMel
1,000,000 #32] 3,000
OZAlIPtlIet #=2| |XIH|
100, 0002 »20CH 2,000
ORHEIISX HHE HIZ
1,000,000 134 S 13,000
Oogxt= 31,800
O=HUgHII= &l 24| Sx=
600,000& «1CH*12] 600
OEYSI| ZAIDtH2 X2
130, 0002 «20CH* 122 31,200
2 s3=234l 46,126 53,431 AT7,306
O=32= # HAl 35,300
Ot At 2ldAIEE & 28 WP
N Xtz 80,0002 x20CH* 12& 19,200
OSHESIl 5 0lsSd 2= 2,640
@otHE 60,000 *2CH* 122 1,440
@DHHUZE (A ABIGIAE)
10,0002 *10CH* 12 1,200
OZNIHE ZAIHCH MRS
5,0003 * 132l &+ 123 780
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2A:

3 THIJOIE SEEII2e]
el =80 Hol=2d (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORHIME 2ASHIE SIABE
75,0002 *132| &+ 12& 11,700
Os=XLME S (ZAIDH0I2H
7,000 »140CH 980
OAlZ EHIs Xl 10,826
OZHEI| ZATIH OIFE b
400,000 * 10CH 4,000
OSE2ME ZAIFtHICH RXI2==H]
113,757,000 6% 6,826
202 04| 810 810
01 =LHOHI 810 810
O=el(t| 810,000& 810
203 HR=&H] 810 810
03 A=A =] 810 810
OF2AIHFA 810,000 810
301 EtE N = 4,000 4,000
14 DBt 2 a=S 4,000 4,000
OHDIZ SHSI| HDENT
4,000,000 4,000
HH =S 3 3,000,731 2,999,408 1,323
ol 2| (&Z 0I5t 2,915,783 2,8%,308 20,475
el 24| 2,915,783 2,8%,308 20,475
101 @124H| 2,409,447 2,650,368 A240,921
01 2= 58,461 163,058 A104,597
Oxn=22+E(HY) 51,749
OAL222+E
12,3212 #35A1 2t+ 108« 123 51,749
Oxn=22=+E(283) 6,712
oAl DR
11, 1303 +67 Al 2H9H 6,712
03 SRH(RINHA) 222+ 2,350,986 2,487,310 A136,324
OtdsRHE> 2,247,066
oJlzs 2,336,510 +33F ~ 128 925,258
oJ|gsg 2,866,510 *33E +200% 189,190
od2+g 2,816,5102 «33E *100% 92,945
OXNIE Etedd| 2,866,510 *33H *300% 283,785
oulg syl 50,000 =33~ 122 19,800
CELELES 200, 107
02RY, 25U = ABIDLY
249, 5083 +71dx2H 35,431
Qo S Hi42R+E
249,508 x33E »20 164,676
OAL22R+E
31,1802 «QEH+BA| 2H+51& 114,527
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StH0I3H
B 2 ot 2|
el 2HH|(2-Z0/15n) CHe M)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
CEREEESE:
166, 3392 *332 132 71,360
oZ=sY 300,000&x 1+ 123 3,600
(OFSELE= 102,960
@=L 31,680
BN 40,0002 +33E+12& 15,840
-J|EPDIS 20,0002 *33H 2= » 12 15,840
O=E~L R 90,0002 *33H + 12& 35,640
@A H+Y 90,000 *33E * 12& 35,640
O=c|= M| 243,534
Q@ UZ Al 180,000& #3312 71,280
[ J=RSE=Wa]
2,866,510 33 23| *60% 113,514
@CHAIF O 100,000 33X 3,300
{ EECES 140,00021+33% 122 55,440
OBATLH YoEIHLY
80,000,000 x1H 80,000
OLHTHE A 2I2H] & HOLAH a2 2|
4,800, 0002 50%+3H 3 21,600
O34 X =] 100,000& %10 1,000
OR4HLEES S 1,320
OItAZ HLES 40,0002 33 1,320
M AIRE3S 506,336 244,940 261,3%6
M SRA(RINHS) 22X BEE2882 S 506,336 440,225
(@ME=1h=:E=4 2,247,066,000& *1.75% 39,324
OleUEEz
2,247 ,066,0002 *3.5%*12.27% 9,651
Ot B EEZ
2,247,066,000& *0.961% 21,595
O=UHAZRE3 2,247,066,0003 *4. 5% 101,118
O=0AHLEE = 2,247,066,0003 *3. 5% 78,648
OS2 ER2 EAZ 130,000,000& *1H 130,000
Oz S2HEMZ 42,000,000 *3H 126,000
224[(2Z0I3t) 84,948 104,100 A19,152
J|1E23H| 84,948 104,100 A19,152
201 L2 | 33,168 AT,152
01 At 22|l 33,168 ANT,152
OJ|Z2Ar22t2|| 21,0003 208« 123 5,040
O=&l 25,728
OZA E2S4HI
8,000 x11Z 84« 12& 8,448
o2& ZAH|
8, 0003 x99 204! 12& 17,280
ogxz 2,400
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FA 202t
B sE 202y
Sl J1=2dI(2&3 013 (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSAPI Stz 200,000& «1CH*12& 2,400
202 04l 48,000 60,000 A12,000
01 =LHOHI 48,000 60,000 212,000
OZU 048l 20,0002 x 112 *102x 122 26,400
OZLHOHI(2ER)
10,0002 x9S *202 * 122 21,600
203 g4l 3,780 3,780
M EA2HER=AH 3,780 3,780
O21EA4(25H0I5H 350,0003 x 122 «90% 3,780
Wees(820/st) 36,480 40,320 23,840
LIS HHKIE 36,480 40,320 A3,840
FAUESEH HES 36,480 40,320 A3,840
701 JIEtI HSHES 36,480 40,320 A3,840
01 JIEII AN ES 36,480 40,320 23,840
OFXESE3H HE=
160,000 x 190« 12& 36,480
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